RETAM BRODRE EHR 01
ROFICEZ L. (SHh33208, A5, B 74, C# 1045 )

(1) AB=7 BC=8 CA=50t%, AHODESZRKD L.

A

(2) AB=10,BC=17, CA=210t % BHOEZX%ZXR® k.
A

(3) AB=13, BC=10, CA=7Dt %, AHOEXZR® k.

A
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ROFIZEZ K. (SH3T208, A5, BT, CH 104 )
(1) AB=12, BC=10, CA=8Dt %, CHOEZ%Zk® k.

A

(2) AB=3,BC=5 AC=2/6DLtE, AHOEZZKd k.

(3) AB=+V3,BC=+V5 CA=VI0DEE, CHOEZ%ZK® k.

A
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REFZAN BHORS B 01 BEWH

ROMIZEZ L. (SHh353208, Afks55, Bk 7, C#% 105 )

*x ZHOREHbINIF=AOESbEBELRDOSNS.
AABCIZEWT, ASUBCIKTALLEHROLEZH EBL.
AABH IC =0z @ 22 + h? = 2
{ AACH IC= OB Z#EM (o —2)? +h% =02
o R AT IE L.

A BH=u AH=h £5<.

AABH IC= OB Z#EE = hP+22=7 @
AACH =V oEMAZ#EH = h2+8-2)2=5 @
O-@&b, 162-64=24 = z=1

O OQIRALT, K2+ ()2 =172
B H C h?=49 - 121 = p2=T
h>0%b, 11:5'7‘2/§ R

(2) AB=10,BC=17, CA=21 Dt &, BHOEI%ZXR® L.

A
AH=2z, BH=h £ B<.
H

AABH IZ=FEHFOERZ#HEMA = h2+22=10%2 Q@
ACBH IC =P o zZ#EM = h2+(21—2)? =17 O
O-@&D, 420 -441=-189 = 2z2=6
OIRARALT, R2+62=102 = h>=064

B C h>0%bh, h=8 %X

(3) AB=13, BC=10, CA=7DLt %, AHOEX %2Rk k.

CH=z, AH=h tEX.

AABH IC=VH0EHAZBH = K2+ (2 +10)2=132 Q@
AACH = oz = h2+22=7 @
O-@&b, 200 +100=169—-49 = z=1
@IZRALT, h2+12 =72

= h2=72-12=49-1=48

h>04&D, h=V48=4v3 &Z
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2.

ROFIZEZ K. (SH3T208, A5, BT, CH 104 )

(1) AB=12, BC=10, CA=8Dt &, CHOEZ%2kX®» k.

A
AH =z, CH=h XK.
H
AACH L= P 0EZ#N = h? 427 =8 O
ABCH = FHOEMZEH = A2+ (12—-2)2 =102 @
O-@&b, 245 -144=64-100 = z=3
B DIRALT, h2+9° =8
C
S =15 s psoxy, h=SYT Lz

2

(2) AB=3,BC=5 AC=2/6DtE, AHOEZZRd k.

BH=u, AH=h £8X.

A
AABH IC=EH 0 Z2EE = h2+22=32 @
AACH = FHoEME#ME = h24+ (5 —12)? = (2V6)?
O-@&D, 102-25=9-24 = z=1
- f 2 2 __ 92
B - C OIZRALT, h24+12=3

= h>0XD, h=2v2 &Z

(3) AB=V3,BC=+V5 CA=V/I0DEE, CHOEZZK® k.

A

AH=z, BH=h £ 8.

2

AABH IC= P o@ iz = h2+(x+v3)2=V10 @
AACH IC= oz wH = h2 422 =(V5)? @
O-@&Y, 2V82+3=10-5 = z=_4
OIRALT, B2+ (J5)? = NGS

S h>0%h, b=y =2 ER
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